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Study the following graph and answer the following questions.
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Given Bar graph shows the earning of 3 Mobile manufacturin% companies in 4 different countries.
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Q.1.What is the Average earning of One Plus from all the countries together (in million)?
At ATt o o7 v hT 3T wETe (Fferam #) fraet 22
a) 270 b) 280 ¢) 285 d) 260 e¢) None of these
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Q.2. If total earning of one plus from all the four countries is increased by 10% but overall
earnings of all companies remains same then find the percentage share of one plus from all the
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a) 41.64%
b) 32.78%
¢) 39.54%

d) 36.66%
e) 28.28%
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a) 18.54%

b) 31.42%

¢) 54.78%

d) '4'3*:‘;:‘-”'li\llf'JEI Earning (in millons) of 3 companies from 4 countries
¢) 16.67% -
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(.4. If earning of apple from India is increased by 20% and earning of apple from USA is
decreased by 30% then earning of apple from India is how much percent more or less then

earnings frgm USA(up to decimal plage)? ‘
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ﬂ) 5.71% less S Earning (in millons) of 3 companies from 4 countries
b) 5.71% more £/ /4 00 o
¢) 6.06% less EHE | 450
d) 6.06% more ARON T .o
e¢) none of these IR '
350
300
250
200
150
MW Apple 1D|J
®mOnePlus °

Samsung 0

L5A Russia China India




Q.. What 15 the difference between total earning of Apple from all four countries and total
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a) 440 million b) 300 million ¢) 260 million d) 360 million e) None of these
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Directions (Q. 6-10):-Study the following graph carefully and answer the questions given
below : No. of Bridges constructed, demolished and redeveloped across various cities in a
year.
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Q.6 :- What is the difference between the total number of bridges (constructed, demolished

and redeyelop
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(A)150 (B)135 (C)125 (D)160 (E)None of these
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Q.7 :- What is the average number of bridges demolished across the cities?

T =g?) A <2 TR yal 1 s @ fhat 82

(A)140 (B)165 (O)145 (D)195 (E)None of these
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Q.8 :- What is the respective ratio of the number of bridges demolished in city E to the
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(A)2:3(B)3:1 (C)l : 1 (D) 3: 2 (E)None of these
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Q.9 :- What is the approximate average number of bridges (constructed, demolished and
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(A)198 (B)195 (O)185 (D)192  (E)None of these
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Q.10 :- The total number of bridges constructed across the cities is approximately what
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(A)64%

(B)70%

(C)62% (D)S8%  (E)None of these
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In an examination, 1100 boys and 900 girls appeared.
50% of the boys and 40% of the girls passed the

(1) 45%  (2) 45.5% (3) 50%
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A candidate who gest 20% marks in an examinatioh,
fails by 30 marks. But if he gets 32% marks, he gets
42 marks more than the minimum pass marks. Find

the pass percentage of marks.
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(1) 52% (2) 20% (3) 25% (4) 12%




A person gave 20% of his income to his elder son,
30% of the remaining to the younger son and 10%

of the balance, he donated to a trust. He is left with ¥
10080. His income was :

Teh Afdd 7 ATAI 3T &1 20% A9+ a8 A i =0
JqT T HT 30% 3794 B T i < f5an | 39 o= g8
T 1 10% SHA Tk & &l 2 fear 3 39 R SToh
9 10080 TUF & | ITh! 3T i—

(1) T 50000 (2) T 40000
(3) T 30000 (4) T 20000




